4.1 Linear Functions
Linear Function: a function whose graph forms a

straight line.
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Ex1) Tell whether the given ordered pairs satisfy a function.

If so, is it a linear function? Explain. ) Tablo: 2) Fmd the
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Standard Form of a Linear Equatiun:]Ax + By =C,
where A, B and C are real numbers, A and B are not both 0,
and A must be positive.
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Ex2) Write the following linear equation in’Standarcl Fnrrn.)
Then give the values of A, B and C. - ultﬂfF
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Ex2) Write the following linear equation in Standard Form.
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Ex3) Tell whether a given equation is a Linear Equation:
* Both x and y must have exponents of 1.
* x and y are not multiplied together. B

* X and vy are not in the denominators, exponents, or radical

signs.

a) y=2x-3 b) 4x-y=35 c) 3-2y=5
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4.2 Using Intercepts

* The x-intercept is the x-coordinate of the point
where the graph intercepts the x-axis.

* The y-intercept is the y-coordinate of the point
where the graph intercepts the y-axis.

Ex4) Find the x- and y-intercepts. (Show ke answor i ovderd
c) K poits )
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Ex5) Find the x- and y- intercepts. Then graph the function.
* To find the x-intercept, replace y with 0 and solve for x.
* To find the y-intercept, replace x with 0 and solve for y.

a) 3x+9y=9, b) 4x+6y=-12 ¢c) 2x-y=4
ikt 3%+ 946) =1 mk « 4%+ L(o) = -12 ¥at: 2% -0 =y
3x =4 yx = -2 2x=4
X = 3 X =- =2
jiot 348) ray=q T AL Y=o gy oy
Ji'j:fi Eﬂg "1 j:_q
9= J= "%

R
w & & -4 .d




dg(%-q._lx) mlligy ey y-5

3 2 Eugrfﬁth-.a ND x - it

45 - 111[-' N "ﬂ'j thu Lj-i-n.*-: 2 5
- ] E’OHM““
I‘l"-t ' qfﬂ}: lq -3:": Jlmﬁlﬁmf. CD‘IS-‘ ﬂ.ﬁt
02243 yint: Functiom
W i
:1-‘-[ q‘j: Ilt"?’{u}
X :3 uj: 'Lq
Y=L
: TR (EEE

f) -2y-5=3
No X-mt

aaaaaaaaaaaaaaaaaaaaaa




